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0~ 127% 2 17% 6 5 % A =

11% | ~208% |~648% | UL =
6H20H0 (k) |k Tk 1 2 14 8 25
6210 OK) |Fkaatiht 2 2 7 2 13
6H22H OR) |4kam )ik 1 6 13 4 2 4
6 H23H (&) |/kan )k 4 2 13 5 24
6H24H (1) | Hkam Bk 6 1 15 4 26
6 H25H (A) |#kan Bk 3 8 8 19
6H26H (H) |/kan )k 6 5 21 11 4 3
6H27H (K |kanm )k 7 1 18 4 30
6 H28H (UK |4karm Tt 2 4 11 2 19
6H29H OK)|Hkanm Bk 4 37 17 7 6 5
6 H30H (&) |skam Ttk 4 15 9 3 31
7TH 18 (1) |4kae TGk 1 7 11 10 29
7TH 28 (R) |4kan Bt 3 12 3 18
7H 3H (A) |/karnFiBt 6 7 20 8 41
TH 48 (K| ke Tt 4 3 20 8 35
7H 5H 0K |Hkan Tt 4 17 5 26
7TH 6H (K |4kan Bt 4 1 20 14 39
TH TH (&) | kaa Sk 10 5 21 2 38
7TH 8H (L) |4k Tit 3 8 13 14 38
7H 9H (R) |4/karn )it 1 13 1 15
TH10H (H) |4kan Tt 7 2 32 2 4 3
TH11H (K |kam Bt 4 1 18 9 32
7TH12H 0K |4kam Tt 5 5 15 4 29
7TH13H OR) |4kan Bk 5 5 21 7 38
TH14H (&) |kan Bk 7 4 29 5 45
7TH15H (1) | 4k= v Bk 1 4 16 7 2 8
7H16H (R) |4kaa )ik 5 10 15
TA17H (A | Ak a TGk 1 14 3 18
7TH18H (K |4kan Tk 3 3 2 8 7 41
7TH19H 0K |sk=a TGt 4 2 8 11 4 3
TH20H OR) |fk=amEgk 3 6 2 2 6 37
TH21H (&) |kan TGt 3 4 23 7 37
7TH22H (1) |fkan Tt 3 5 2 2 8 38
7H23H (H) | koI gk 7 4 27 9 4 7
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TH248 (A) |4kantgtk 4 13 52 19 8 8
TH25H (k) |4kaa )ik 5 9 50 20 8 4
TH26H (K |#kaa gk 3 33 14 50
TH27TH OR) |4kaa gk 2 8 4 9 9 6 8
TH28H (&) |skantihk 6 8 33 5 52
TH29H (&) |4skaaFpghik 7 3 37 13 6 0
TH30H (A) |4kamFpk 4 1 14 3 22
TH31H (A) |4#kaatpmik 12 11 4 3 21 87
8H 1H (k) |shkanrik 7 4 52 7 70
8H 2H (K) |#kanarbGk 2 3 37 6 4 8
8H 3H (K |k=awiigk 2 9 34 8 53
8H 4H (&) |4k=anihk 2 7 2 2 15 4 6
8H 50 (&) |shk=nihk 4 6 2 8 5 4 3
8H 6H (A) |4k=anik 2 11 7 20
8H 7H (H) |4k=anihk 7 5 35 16 6 3
8H 8H (k) |Shk=aniik 5 7 38 9 59
8H 9H UK) |4k=niik 3 3 31 11 4 8
8H10H (OK) |4kamipk 4 6 45 15 70
8H11H (& -8 | Jka vk 5 10 16 31
8H12H (&) |shk=niBk 5 3 37 20 65
8H13H (H) |4k=anik 2 17 8 27
8H14H (H) |4skanviik 7 4 20 28 59
8H15H (k) |4kanmik 1 4 32 21 5 8
8H16H (K) |sk=anmik 2 9 4 4 12 6 7
8H17H (K) |4hk=anik 10 10 6 7 38 125
8H18H (&) |skaniik 11 15 60 40 126
S8H19H (&) |skanrBik 6 12 53 29 100
8H20H (H) |Skamiiht 5 5 21 7 38
8H21H (H) |4k=aniik 3 10 51 33 97
8H22H (k) |skanmiik 4 17 56 30 107
8H23H (K) |4hk=miik 3 6 32 19 6 0
8H24R (K) |4skavtpk 11 14 6 9 21 115
8H25H (&) |skaniik 8 8 4 0 29 85
8H26H (&) |skaniik 2 8 25 23 5 8
8H27H (H) |4k=niik 3 5 26 2 36
8H28H (H) |4k=aniik 19 5 47 31 102




0~ 12/ |215% |6 5 & &0 =
115 | ~208 | ~64m | Lk

8H29H (K) | Fkamtiht 4 9 44 12 69
8H30H (UK) |Fk=m)iht 16 13 38 13 80
8H31H OR) |kam)iht 9 20 44 15 88
9H 1H (@) | kam ik 8 11 31 31 81
9H 2R () |skamFBk 6 9 47 19 81
9H 3H (H) | kamFkt 2 11 5) 18
9H 48 (H) |4 k=aa Ttk 16 10 4 3 26 95
9H 5 H (K)|sk=m Tt 7 21 4 5 21 94
9H 60 0K)|skamFikE 11 (4 25 13 56
9H 7H OK)|Skam Ik 16 12 59 22 109
9H 8H (@) |skam ik 11 (4 37 12 67
9H 9H () |shk=mFik 3 1 33 14 51
9H10H (R) |4k=w )t 7 4 26 3 40
91 1R (A) |skaw )ik 2 6 16 6 6 15 123
9H12H (k) |skam Tkt 14 18 39 26 97
9H13H 0UK)|skaa Ik 13 18 44 14 89
9H14H OK) | SkaaFik 8 15 33 15 71
9H15H (@) |skaaFiEk 7 9 31 14 6 1
9H16H (1) | skaa Ik 8 11 31 4 2 92
9H17H (H) |%k=aFikE 15 3 24 9 o1
9H18H (H) |4k=a )ik 6 32 3 o0
9H19H (k) |skaa TGk 12 24 50 13 99
9H20H 0K)|sk=a Tk 4 11 23 12 o0
9H21H OK)|Skaa Tk 3 9 24 15 51
9H22H (@) |skaa TGk 7 9 31 2 2 69
9H23H (1) | sk=a TGk 1 2 9 8 20
9H24R (R) |4ska vtk 3 4 19 3 29
9H25H (A) |4k m Tk 7 6 23 25 61
9H26H (K) |k TGk o 3 2 8 7 4 8
9H27H OK)|sk=aFiEk 4 5) 14 10 33
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11 | ~20 | ~645% | UL
9H28H (K)|Hkarm TGt 2 3 21 4 30
9H29H () |shkam Tk 1 6 14 12 33
9H30H () |4kam Tt 5 1 11 5) 2 2
10H1H (B) |%kan gk 2 3 8 2 15
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